Base points location 


· This point is located in the square formed by the first letter of Germany capital city and the number which is equal to the greatest common divisor of 6 and 15.
· Another point will be found in the square formed by the first letter of the city which houses the European Parliament and the number which solves the equation
𝑥2 − 4𝑥 + 4 = 0
· This point will be come across on arriving at the square formed by the first letter of  the country whose capital city is Athens and the number which solves   
10𝑥  = 100 000
· This point will be located in the square formed by the first letter of one British colony in the south of Spain and the fourth prime number. 
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Solutions: B3, E2, G5 and G7.

